Based on a true story:

Joan is making a recipe that calls for 2 tablespoons of whole milk.  However, she does not have whole milk; all she has is skim milk and half-and-half.  Perusing the cartons, she finds that

a 1-cup serving of skim milk contains 0 g fat

and

a 2-tbsp serving of half-and-half contains 3 g fat
(there are 16 tablespoons to a cup).

Rummaging through the garbage, Joan​ finds the recently emptied and discarded whole-milk carton, which tells her that

a 1-cup serving of whole milk contains 8 g fat.

Using only a teaspoon (= 1/3 of a tablespoon), how can Joan combine suitable amounts of skim milk and half-and-half to form a liquid with the same fat content as whole milk? 

